

GROWTH OF POLYNOMIALS NOT VANISHING  
INSIDE A CIRCLE

Robert B. Gardner<sup>1</sup>, N.K. Govil<sup>2</sup> §, Amy Weems<sup>3</sup>

<sup>1,3</sup>Department of Mathematics  
East Tennessee State University  
Johnson City, TN 37614, USA

<sup>1</sup>e-mail: gardnerr@etsu.edu

<sup>2</sup>Department of Mathematics  
College of Science and Mathematics  
Auburn University

218 Parker Hall, Auburn, AL 36849-5310, USA  
e-mail: govilnk@auburn.edu

**Abstract:** A well-known theorem of Ankeny and Rivlin states that if  $p(z)$  is a polynomial of degree  $n$ ,  $p(z) \neq 0$  for  $|z| < 1$ , then  $\max_{|z|=R>1} |p(z)| \leq \left(\frac{R^n+1}{2}\right) \max_{|z|=1} |p(z)|$ .

In this paper we generalize and sharpen this, and some other results in this direction.

**AMS Subject Classification:** 30A10, 30C10, 30E10, 30C15

**Key Words:** polynomials, restricted zeros, growth, inequalities

1. Introduction and Statement of Results

Let  $p(z) = \sum_{v=0}^n a_v z^v$  be a polynomial of degree  $n$ , and let

$$\|p\| = \max_{|z|=1} |p(z)|, \quad M(p, R) = \max_{|z|=R} |p(z)|.$$

For a polynomial,  $p(z) = \sum_{v=0}^n a_v z^v$ , of degree  $n$ , it is well-known and is a simple consequence of maximum modulus principle (see [12] or [10, Volume 1, p. 137]) that for  $R \geq 1$ ,

$$M(p, R) \leq R^n \|p\|, \tag{1.1}$$

with equality holding for  $p(z) = \lambda z^n$ ,  $\lambda$  being a complex number. For a poly-

nomial of degree  $n$ , not vanishing in  $|z| < 1$ , Ankeny and Rivlin [1] proved that for  $R \geq 1$ ,

$$M(p, R) \leq \left(\frac{R^n + 1}{2}\right) \|p\|. \tag{1.2}$$

The inequality (1.2) becomes equality for  $p(z) = \lambda + \mu z^n$ , where  $|\lambda| = |\mu|$ .

Govil [5] observed that since the equality in (1.2) holds only for polynomials  $p(z) = \lambda + \mu z^n$ ,  $|\lambda| = |\mu|$ , which satisfy

$$|\text{coefficient of } z^n| = \frac{1}{2} \|p\|, \tag{1.3}$$

it should be possible to improve upon the bound in (1.2) for polynomials not satisfying (1.3), and therefore in this connection he proved the following refinement of (1.2).

**Theorem A.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$  and  $p(z) \neq 0$  in  $|z| < 1$ , then for  $R \geq 1$ ,*

$$M(p, R) \leq \left(\frac{R^n + 1}{2}\right) \|p\| - \frac{n}{2} \left(\frac{\|p\|^2 - 4|a_n|^2}{\|p\|}\right) \times \left\{ \frac{(R-1)\|p\|}{\|p\| + 2|a_n|} - \ln \left(1 + \frac{(R-1)\|p\|}{\|p\| + 2|a_n|}\right) \right\}. \tag{1.4}$$

The above inequality becomes equality for the polynomial  $p(z) = \lambda + \mu z^n$ , where  $|\lambda| = |\mu|$ .

This result of Govil [5] was sharpened by Dewan and Bhat [4] who proved that under the hypotheses of Theorem A, the inequality (1.4) can in fact be replaced by a sharper inequality

$$M(p, R) \leq \left(\frac{R^n + 1}{2}\right) \|p\| - \left(\frac{R^n - 1}{2}\right) m - \frac{n}{2} \left(\frac{(\|p\| - m)^2 - 4|a_n|^2}{(\|p\| - m)}\right) \times \left\{ \frac{(R-1)(\|p\| - m)}{(\|p\| - m) + 2|a_n|} - \ln \left(1 + \frac{(R-1)(\|p\| - m)}{(\|p\| - m) + 2|a_n|}\right) \right\}, \tag{1.5}$$

where  $m = \min_{|z|=1} |p(z)|$ . The result is best possible and equality holds for the polynomial  $p(z) = \lambda + \mu z^n$ , where  $|\lambda| = |\mu|$ .

The above result of Dewan and Bhat [4] was generalized by Govil and Nyuydinkong [7], who proved the following theorem.

**Theorem B.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$  and  $p(z) \neq 0$  in  $|z| < K$ ,  $K \geq 1$ , then for  $R \geq 1$ ,*

$$M(p, R) \leq \left(\frac{R^n + K}{1 + K}\right) \|p\| - \left(\frac{R^n - 1}{1 + K}\right) m$$

$$- \frac{n}{1 + K} \left(\frac{(\|p\| - m)^2 - (1 + K)^2 |a_n|^2}{(\|p\| - m)}\right) \times \left\{ \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K)|a_n|} \right.$$

$$\left. - \ln \left(1 + \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K)|a_n|}\right) \right\},$$

where  $m = \min_{|z|=K} |p(z)|$ .

In this paper, we prove the following generalization of Theorem B.

**Theorem.** *If  $p(z) = a_0 + \sum_{v=t}^n a_v z^v$ ,  $1 \leq t \leq n$ , is a polynomial of degree  $n$  and  $p(z) \neq 0$  in  $|z| < K$ ,  $K \geq 1$ , then for  $R \geq 1$ ,*

$$M(p, R) \leq \left(\frac{R^n + K^t}{1 + K^t}\right) \|p\| - \left(\frac{R^n - 1}{1 + K^t}\right) m$$

$$- \frac{n}{1 + K^t} \left(\frac{(\|p\| - m)^2 - (1 + K^t)^2 |a_n|^2}{(\|p\| - m)}\right) \times \left\{ \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|} \right.$$

$$\left. - \ln \left(1 + \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|}\right) \right\},$$

where  $m = \min_{|z|=K} |p(z)|$ .

Clearly, for  $t = 1$ , the above theorem gives Theorem B due to Govil and Nyuydinkong [7], which for  $K = 1$  reduces to (1.5) due to Dewan and Bhat [4]. Since  $(\|p\| - m)^2 - (1 + K^t)^2 |a_n|^2 \geq 0$  (see Lemma 5) and  $\ln(1 + x) < x$ , for  $x > 0$ , our above theorem, in particular, gives the corollary.

**Corollary.** *If  $p(z) = a_0 + \sum_{v=t}^n a_v z^v$ ,  $1 \leq t \leq n$ , is a polynomial of degree  $n$  and  $p(z) \neq 0$  in  $|z| < K$ ,  $K \geq 1$ , then for  $R \geq 1$ ,*

$$M(p, R) \leq \left(\frac{R^n + K^t}{1 + K^t}\right) \|p\| - \left(\frac{R^n - 1}{1 + K^t}\right) m,$$

where  $m = \min_{|z|=K} |p(z)|$ .

For  $t = 1$ , the above corollary clearly generalizes and sharpens the inequality (1.2) due to Ankeny and Rivlin [1]. It also includes as a special case (taking

$t = 1$  and  $K = 1$ ) the following result due to Aziz and Dawood [2], which is a sharpening of the inequality (1.2) due to Ankeny and Rivlin [1].

**Theorem C.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$  that does not vanish in  $|z| < 1$ , then for  $R \geq 1$ ,*

$$M(p, R) \leq \left(\frac{R^n + 1}{2}\right)\|p\| - \left(\frac{R^n - 1}{2}\right)m,$$

where  $m = \min_{|z|=1} |p(z)|$ . The above result is best possible and equality holds for the polynomial  $p(z) = \alpha z^n + \beta$ , where  $|\beta| \geq |\alpha|$ .

### 2. Lemmas

We need the following lemmas.

**Lemma 1.** *Let  $f(z)$  be analytic inside and on the circle  $|z| = 1$  and let  $\|f\| = \max_{|z|=1} |f(z)|$ . If  $f(0) = a$ , where  $|a| < \|f\|$ , then for  $|z| < 1$ ,*

$$|f(z)| \leq \left(\frac{\|f\||z| + |a|}{\|f\| + |a||z|}\right)\|f\|.$$

This is a well-known generalization of Schwarz Lemma (see for example [10, p. 167]).

**Lemma 2.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$ , then for  $|z| = R \geq 1$ ,*

$$|p(z)| \leq \left(\frac{\|p\| + R|a_n|}{R\|p\| + |a_n|}\right)\|p\|R^n.$$

The proof of this lemma follows easily by applying Lemma 1 to  $T(z) = z^n p(\frac{1}{z})$  and noting that  $\|T\| = \|p\|$  (see Rahman [11, Lemma 2] for details).

From Lemma 2, one immediately gets (see Govil [5, Lemma 3]).

**Lemma 3.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$ , then for  $|z| = R \geq 1$ ,*

$$|p(z)| \leq R^n \left(1 - \frac{(\|p\| - |a_n|)(R - 1)}{(R\|p\| + |a_n|)}\right)\|p\|.$$

**Lemma 4.** *If  $p(z) = a_0 + \sum_{v=t}^n a_v z^v$ ,  $1 \leq t \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < K$ ,  $K \geq 1$ , then*

$$\|p'\| \leq \frac{n}{1 + K^t}(\|p\| - m),$$

where  $m = \min_{|z|=K} |p(z)|$ .

The above lemma is due to Govil [6, p. 629] and is of interest in itself, because it generalizes and sharpens results of Lax [8], Chan and Malik [3, Theorem 1], Malik [9, Theorem 1], and Aziz and Dawood [2, Theorem 2].

**Lemma 5.** *If  $p(z) = a_0 + \sum_{v=t}^n a_v z^v$ ,  $1 \leq t \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < K$ ,  $K \geq 1$ , then*

$$|a_n| \leq \frac{1}{1 + K^t} (\|p\| - m). \tag{2.1}$$

*Proof.* If  $p(z) = \sum_{v=0}^n a_v z^v$ , then  $p'(z) = a_1 + 2a_2z + \dots + na_n z^{n-1}$ . Hence Cauchy Inequality when applied to  $p'(z)$  gives

$$|na_n| \leq \|p'\|. \tag{2.2}$$

On the other hand, by Lemma 4,

$$\|p'\| \leq \frac{n}{1 + K^t} (\|p\| - m). \tag{2.3}$$

Combining (2.2) and (2.3), we obtain

$$|na_n| \leq \frac{n}{1 + K^t} (\|p\| - m),$$

from which (2.1) follows. □

**Lemma 6.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$  and  $R \geq 1$ , then*

$$\left( 1 - \frac{(x - n|a_n|)(R - 1)}{(Rx + n|a_n|)} \right) x$$

*is an increasing function of  $x$ , for  $x > 0$ .*

The above lemma which follows by the derivative test is also due to Govil [5, Lemma 5].

### 3. Proof of the Theorem

To prove the Theorem, first note that for each  $\theta$ ,  $0 \leq \theta < 2\pi$ , we have

$$p(Re^{i\theta}) - p(e^{i\theta}) = \int_1^R p'(re^{i\theta}) e^{i\theta} dr.$$

Hence

$$\begin{aligned} |p(Re^{i\theta}) - p(e^{i\theta})| &\leq \int_1^R |p'(re^{i\theta})| dr \\ &\leq \int_1^R r^{n-1} \left( 1 - \frac{(\|p'\| - n|a_n|)(r-1)}{(r\|p'\| + n|a_n|)} \right) \|p'\| dr, \quad (3.1) \end{aligned}$$

by applying Lemma 3 to  $p'(z)$ , which is a polynomial of degree  $(n-1)$ .

By Lemma 6, the integrand in (3.1) is an increasing function of  $\|p'\|$ , hence applying Lemma 4 to (3.1), we get for  $0 \leq \theta < 2\pi$ ,

$$\begin{aligned} |p(Re^{i\theta}) - p(e^{i\theta})| &\leq \int_1^R r^{n-1} \left( 1 - \frac{\{\frac{n}{1+K^t}(\|p\| - m) - n|a_n|\}(r-1)}{r\frac{n}{1+K^t}(\|p\| - m) + n|a_n|} \right) \\ &\quad \times \frac{n}{1+K^t}(\|p\| - m) dr \\ &= \frac{n}{1+K^t}(\|p\| - m) \int_1^R r^{n-1} \left( 1 - \frac{\{(\|p\| - m) - (1+K^t)|a_n|\}(r-1)}{r(\|p\| - m) + (1+K^t)|a_n|} \right) dr \\ &= \frac{n}{1+K^t}(\|p\| - m) \int_1^R r^{n-1} dr - \frac{n}{1+K^t} \left( (\|p\| - m) - (1+K^t)|a_n| \right) \\ &\quad \times \int_1^R \left( \frac{r^{n-1}(r-1)(\|p\| - m)}{r(\|p\| - m) + (1+K^t)|a_n|} \right) dr. \end{aligned}$$

Since by Lemma 5,  $(\|p\| - m) - (1+K^t)|a_n| \geq 0$ , we get for  $0 \leq \theta \leq 2\pi$  and  $R \geq 1$ ,

$$\begin{aligned} |p(Re^{i\theta}) - p(e^{i\theta})| &\leq \frac{(R^n - 1)}{1+K^t}(\|p\| - m) - \frac{n}{1+K^t} \left( (\|p\| - m) - (1+K^t)|a_n| \right) \\ &\quad \times \int_1^R \left( \frac{(r-1)(\|p\| - m)}{r(\|p\| - m) + (1+K^t)|a_n|} \right) dr \\ &= \frac{(R^n - 1)}{1+K^t}(\|p\| - m) - \frac{n}{1+K^t} \left( (\|p\| - m) - (1+K^t)|a_n| \right) \\ &\quad \times \int_1^R \left( 1 - \frac{(\|p\| - m) + (1+K^t)|a_n|}{r(\|p\| - m) + (1+K^t)|a_n|} \right) dr \\ &= \frac{(R^n - 1)}{1+K^t}(\|p\| - m) - \frac{n}{1+K^t} \left( (\|p\| - m) - (1+K^t)|a_n| \right) \end{aligned}$$

$$\begin{aligned}
 & \times \left\{ (R - 1) - \left( \frac{(\|p\| - m) + (1 + K^t)|a_n|}{(\|p\| - m)} \right) \right. \\
 & \qquad \qquad \qquad \times \ln \left( \frac{R(\|p\| - m) + (1 + K^t)|a_n|}{(\|p\| - m) + (1 + K^t)|a_n|} \right) \left. \right\} \\
 & = \frac{(R^n - 1)}{1 + K^t} (\|p\| - m) - \frac{n}{1 + K^t} \left( (\|p\| - m) - (1 + K^t)|a_n| \right) \\
 & \qquad \qquad \times \left( \frac{(\|p\| - m) + (1 + K^t)|a_n|}{(\|p\| - m)} \right) \\
 & \times \left\{ \left( \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|} \right) - \ln \left( \frac{R(\|p\| - m) + (1 + K^t)|a_n|}{(\|p\| - m) + (1 + K^t)|a_n|} \right) \right\} \\
 & = \frac{(R^n - 1)}{1 + K^t} (\|p\| - m) - \frac{n}{1 + K^t} \left( \frac{(\|p\| - m)^2 - (1 + K^t)^2|a_n|^2}{(\|p\| - m)} \right) \\
 & \times \left\{ \left( \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|} \right) - \ln \left( \frac{R(\|p\| - m) + (1 + K^t)|a_n|}{(\|p\| - m) + (1 + K^t)|a_n|} \right) \right\},
 \end{aligned}$$

which clearly gives

$$\begin{aligned}
 M(p, R) & \leq \left( \frac{R^n + K^t}{1 + K^t} \right) \|p\| \\
 & - \left( \frac{R^n - 1}{1 + K^t} \right) m - \frac{n}{1 + K^t} \left( \frac{(\|p\| - m)^2 - (1 + K^t)^2|a_n|^2}{(\|p\| - m)} \right) \\
 & \times \left\{ \left( \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|} \right) - \ln \left( 1 + \frac{(R - 1)(\|p\| - m)}{(\|p\| - m) + (1 + K^t)|a_n|} \right) \right\},
 \end{aligned}$$

and the proof of the theorem is complete. □

### References

[1] N.C. Ankeny, T.J. Rivlin, On a theorem of S. Bernstein, *Pacific J. Math.*, **5** (1955), 849-852.

[2] A. Aziz, Q.M. Dawood, Inequalities for a polynomial and its derivative, *J. Approx. Theory*, **54** (1988), 306-313.

- [3] T.N. Chan, M.A. Malik, On Erdős-Lax theorem, *Proc. Indian Acad. Sci.*, **92** (1983), 191-193.
- [4] K.K. Dewan, A.A. Bhat, On the maximum modulus of polynomials not vanishing inside the unit circle, *J. Interdisciplinary Math.*, **1** (1998), 129-140.
- [5] N.K. Govil, On the maximum modulus of polynomials not vanishing inside the unit circle, *Approx. Theory and its Appl.*, **5** (1989), 79-82.
- [6] N.K. Govil, On the growth of polynomials, *J. Inequal. and Appl.*, **7** (2002), 623-631.
- [7] N.K. Govil, G.N. Nyuydinkong, On maximum modulus of polynomials not vanishing inside a circle, *J. Interdisciplinary Math.*, **4** (2001), 93-100.
- [8] P.D. Lax, Proof of a conjecture of P. Erdős, *Bull. Amer. Math. Soc.*, **50** (1944), 509-513.
- [9] M.A. Malik, On the derivative of a Polynomial, *J. London Math. Soc.*, **1** (1969), 57-60.
- [10] Z. Nehari, *Conformal Mapping*, McGraw Hill, New York (1952).
- [11] Q.I. Rahman, Some inequalities for polynomials, *Proc. Amer. Math. Soc.*, **56** (1976), 225-230.
- [12] M. Riesz, Über einen Satz des Herrn Serge Bernstein, *Acta. Math.*, **40** (1916), 337-347.